Assignment 3 by Jim Sizemore
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Problem 2.5.2

format compact
temp=tc_to_f(0,20)
type tc_to_f
temp =
         0   32.0000
    1.0000   33.8000
    2.0000   35.6000
    3.0000   37.4000
    4.0000   39.2000
    5.0000   41.0000
    6.0000   42.8000
    7.0000   44.6000
    8.0000   46.4000
    9.0000   48.2000
   10.0000   50.0000
   11.0000   51.8000
   12.0000   53.6000
   13.0000   55.4000
   14.0000   57.2000
   15.0000   59.0000
   16.0000   60.8000
   17.0000   62.6000
   18.0000   64.4000
   19.0000   66.2000
   20.0000   68.0000

function [ temp ] = tc_to_f( ti, tf )
%TC_TO_F converts range of temperatures from ti to tf in deg C to deg F
tempc=ti:tf;
tempf=1.8*tempc+32;
temp=[tempc' tempf'];
end


Problem 2.5.4

x=[0,1,0]
y=[0,0,1]
z=crossprod(x,y)
z*x'
z*y'

x =
     0     1     0
y =
     0     0     1
z =
     1     0     0
ans =
     0
ans =
     0

x=[0,1,0]
y=[1,0,0]
z=crossprod(x,y)
z*x'
z*y'

x =
     0     1     0
y =
     1     0     0
z =
     0     0    -1
ans =
     0
ans =
     0

x=[1,1,0]
y=[0,1,1]
z=crossprod(x,y)
z*x'
z*y'
type crossprod
x =
     1     1     0
y =
     0     1     1
z =
     1    -1     1
ans =
     0
ans =
     0

function [ wvect ] = crossprod( uvect, vvect )
%CROSSPROD Calculates cross product
wvect=zeros(size(uvect));
wvect(1)=uvect(2)*vvect(3)-uvect(3)*vvect(2);
wvect(2)=uvect(3)*vvect(1)-uvect(1)*vvect(3);
wvect(3)=uvect(1)*vvect(2)-uvect(2)*vvect(1);
end


Problem 2.5.6

k4=compoundint(1000,5,.06,4);
k4

k4 =
  346.8550

k365=compoundint(1000,5,.06,365);
k365

k365 =
  349.8255

diff=k365-k4
type compoundint
diff =
    2.9705

function [ myint ] = compoundint( xo, n, r, k )
%COMPOUNDINT Calculates compound interest
fv=xo*(1+r/k)^(k*n);
myint=fv-xo;
end


Problem 2.6.1

a=[2,6;3,9]
b=[1,2;3,4]
c=[-5,5;5,3]

a =
     2     6
     3     9
b =
     1     2
     3     4
c =
    -5     5
     5     3

Problem 2.6.3

d=zeros(2,3)
e=5*eye(3)
f=3*ones(2)

d =
     0     0     0
     0     0     0
e =
     5     0     0
     0     5     0
     0     0     5
f =
     3     3
     3     3

Problem 2.6.5

g=zeros(6);
g(1:2,1:2)=a;
g(3:4,3:4)=b;
g(5:6,5:6)=c;
g

g =
     2     6     0     0     0     0
     3     9     0     0     0     0
     0     0     1     2     0     0
     0     0     3     4     0     0
     0     0     0     0    -5     5
     0     0     0     0     5     3

g(6,:)=[]

g =
     2     6     0     0     0     0
     3     9     0     0     0     0
     0     0     1     2     0     0
     0     0     3     4     0     0
     0     0     0     0    -5     5

g(1:4,1:4)

ans =
     2     6     0     0
     3     9     0     0
     0     0     1     2
     0     0     3     4

g(5,5)=4

g =
     2     6     0     0     0     0
     3     9     0     0     0     0
     0     0     1     2     0     0
     0     0     3     4     0     0
     0     0     0     0     4     5

g(13)
% It counts elements down each column before going to the next column. So
% it will go down 5 in the first column, 5 more in the second, them 3 more
% in the third. So the answer is g(3,3)
g(3,3)

ans =
     1
ans =
     1

g(12,1)=1
% MATLAB creates a 12th row to put the value
g =
     2     6     0     0     0     0
     3     9     0     0     0     0
     0     0     1     2     0     0
     0     0     3     4     0     0
     0     0     0     0     4     5
     0     0     0     0     0     0
     0     0     0     0     0     0
     0     0     0     0     0     0
     0     0     0     0     0     0
     0     0     0     0     0     0
     0     0     0     0     0     0
     1     0     0     0     0     0

Problem 2.7.2

f=@(x)x.^4-8.*x.^3+17.*x.^2-4.*x-20;
g=@(x)x.^2-4.*x+4;
h=@(x)x.^2-4.*x-5;
f(3)-g(3).*h(3)

ans =
    -6

x=[1,2,3,4,5];
f(x)-g(x).*h(x)

ans =
    -6    -8    -6     0    10

x=-5:.5:5;
f(x)./g(x)-h(x)

ans =
  Columns 1 through 7
    1.8367    1.8107    1.7778    1.7355    1.6800    1.6049    1.5000
  Columns 8 through 14
    1.3469    1.1111    0.7200         0   -1.5556   -6.0000  -30.0000
  Columns 15 through 21
      -Inf  -30.0000   -6.0000   -1.5556         0    0.7200    1.1111

x=-5:.1:5;
plot(x,f(x))
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plot(x,f(x)./(g(x).*h(x)))
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Problem 2.7.4

ci=@(xo,r,n)xo.*(1+r./100).^n;
fv9=ci(1000,9,8);
fv9

fv9 =
   1.9926e+03

fv8=ci(1000,8,9);
fv8

fv8 =
   1.9990e+03

fv8-fv9

ans =
    6.4420

Published with MATLAB® R2014b
